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In this appendix we develop in detail the extensions mentioned in Section 7 of the paper.

1 Endogenous quality benchmark

Here we assume that the willingness to pay for the core product is
ve=ec+ A1 —a)leg — (e +vec)], (1)

where the parameter v > 0 captures the possibility that the reference level of quality for the

extension product depends on the brand owner’s investment in the brand.

1.1 In-House

The profit of the brand owner is

1-a)ec)® 1 1
ler +( ; @ec]” 0Bk — 5 Beé, (2)

mp = p{ec + A1 —a)leg — (e +vec)l} +p
so the optimal effort levels are:

p{20[1 — (1 — a)yA| 4+ (1 — a)Ap(l —a +7) — p}
02— (1—-a)pl—p
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and (I—a)u{A2—-(1-a)p(l—a+~)]+p}
02— (1—a)p] —p '

el =
The equilibrium profit then is

L2201 — )22 2001 — (1 — a)y A2 — p[1 — (1 — @)A1 — a +7)]2}
h = 202~ (1 —aPr] ) e )

1.2 Licensing

The profit of the brand owner now is

(1—a)ec+eg—s 1
2 - 56%? (6)

T = plec + Al — ) e — (e +veo)]} + sp

whereas that of the licensee does not change. Therefore, the optimal effort chosen by the licensee
is still (12). Plugging it into the expression for the brand owner’s profit, it is easy to see that the
optimal royalty rate is still (13). Thus, the brand owner’s profit becomes

_ 2ecp{(1—a)A[~ap—27(2—p)+p|+2(2—p) } —(1—) Au[4(2—p)e— (1—a) App] —eZ {4—[3— (2—a)a]p} (7)
- 4(2—p) ’

T™B

Maximizing this expression with respect to ec one obtains:

L M4 — (10— a)A29(2—p) — (1 —a)p] —2p}
€c = . (8)
4—[3-(2—-a)alp
The corresponding optimal royalty rate is
2-p+{2-(2—a)alp—[(1 —a)(2—pH]}X
L p P P)Y
=(1- .
sE=(1-a)p B (9)
The effort level of the licensee then becomes
L (L=a)upl+ A —(1—a)y)]
= 1
‘B 4—[3—(2—a)alp ’ (10)
which plugged into (7) yields:
L {pe{(1—a)M(1=a)A[1 =2y (1+y—a)[+2(14+2y =) }+ 2} +4p[1 = (1—a)y A —2(1—a) Ae{4—[3—(2—a)alp} } 11
5 = 215~ (-ajal} - (1)

1.3 Results

Proposition 1. Under both in-house development and licensing, the equilibrium exhibits under-

investment in the quality of both products.

Proof. The first best efforts coincide with those under in-house development when 6 = 1. The first



part of the proposition follows from the fact that the derivatives

ded __ (1—a)2up{AR-(1-a)p(l+y—a)]+p} deqs _ _ (=o)u[2-(1-0)’p]{A2—-(1-0)p(1+7—a)]+p} (12)
00 {6[2—(1—a)2p]—p}” 00 {6[2—(1—a)?p]—p}” ’

are both negative. As for the second part, observe that the difference between the first-best effort

and the effort under licensing on the core product is positive

(1 — )2 —p)p[l + A — (1 —a)yA]
{2-12-(2-a)alp}{4 -3 (2 - a)alp}

The difference between the efforts on the extension is

e

ek = > 0. (13)

(1—a)p{ M{p*{5—a{10—a[9—(4—a)a]—7}+7} } —2p[6—a(6—3a+y)+1]+8 } +(2—p)p}
{2—[2—-(2—a)a]p}{4-[3—(2—a)a]p}

eEB ok —

> 0. (14)

Clearly, the denominator is positive; tedious algebra confirms that the numerator is positive as
well. O

Proposition 2. At the extensive margin, if licensing is the best organizational mode (i.e., if Wé =
aNE > 7l ) then brand extension necessarily entails brand dilution.

Proof. The equation ﬂé — “72 = 0 has two solutions in g, namely @ = 0 and

20e{4d — [3 = (2 — a)alp} E

Pl — a2 22 —p) -2\ {4 —p2-1-a2AJ+ (1 —a)r+ 12 F (15)

By evaluating the difference between the licensee’s effort and the threshold € + ’yeé one obtains

(eh—e—nel)| = (1 —a)e (N{p+29[ap+7(2—p) — pl} — p}
ETET0C) |y T 21— a)2A22 — p) — 29A {4 —p{2— (1 — a)2A}} + (1 —a)(A+1)2(p')
16

To verify that this expression is negative we proceed as follows. First, notice that both optimal

efforts are positive and decreasing in ~:

ey _ (1 —a)* up

B oek _ 2(1 — a) (2 — p)
oy 4—-[3—-(2—w)alp

oy 4A—[3-(2—a)dp’ (17)

<0,

Next, observe that for v = 0 the difference eé —e— veé reduces to e% — g, which is negative (see
the baseline model). Re-write the condition at v = 0 as e% < €. Then, letting v increase above zero
entails a decrease in e{g, whereas € does not term and a further negative term appears, 'yeé. 0

1.3.1 Internal development: Extensive margin(s)

The analysis parallels that of the baseline model, though the algebra is more cumbersome.

If the extension is developed in-house, the extensive margin is defined by

= 7NE, (18)



This equation has two roots in A, which we label AP and AZH; the roots are real as long as the

discriminant

(1— a)Qp{/L2(l +y—a)?+2ue(l+y—a)+e [(1—a)?0+ 1]} — 20(yu +€)?
p—=0[2—(1-a)]

(19)

is positive. The denominator is negative under our assumptions, and the numerator is negative too
if )
plu(l+v—a) +¢]

O St P — (1= a)2pe?

(20)

As long as the roots are real, AP < \FH | At the smaller root there is always brand dilution:

H H ety — )2+ 2us(1 +y —a) + (1 - )20 + 1]} — 20(yu + €)?
(eE _5_760)‘,\:,\11”1 - p—0[2—(1—a)? .

(21)
At the larger root, there is always brand enhancement:
H H p{r?(l+y—a)+2ue(1+y—a) +e[(1 —a)?0 + 1]} — 20(yu +€)?
(8 e =1el)|,_ypu = B (o -
A=25 p—0[2—(1-a)g)
(22)

In the ensuing results, the cautionary note of the baseline model that some intervals may be

empty still applies.

Proposition 3. At the intensive margin, a switch from internal development to licensing always
decreases the quality of the core product ec and always increases the quality of the extension eg;

therefore, it reduces the likelihood of brand dilution.

Proof. The solution to equation 78 = 7§ w.r.t. 0 is

P> {)\ [2+'y+a2 —a(7+2)] - 1}2+2>\p{)\[a(6—3a+47) —4y—5]+4} 4822

I_
0 = p{—T—a)p{T—a) NI-2v(I—a+y)]—2a+dy+2} 22 {(T—a)y 222+ {T—a) [} +A+2}—2(1—p)}’

(23)

Here we restrict our attention to the case where #/ > 1. If this condition does not hold, in-house
development is never a profitable extension mode.
The difference between the efforts on the core product with under in-house and licensing, eval-

uated at 0! is

(- ek)|,_, = (1 —a)*Aup{2 + M[2 — (2 — a)alp — [(1 — a)y(2 - p)]} — p} (24)
¢ o= {4-[B—2-a)a]pH{A2 - (1 —a)p(l —a+7)]+p}

The denominator is clearly positive and tedious algebra shows that the numerator is positive,
too, implying that the difference is positive. In turn, this implies that the threshold for brand

enhancement/dilution, & + yec has a downward jump at the intensive margin.



The difference between the efforts on the extension:

(eH B €L>‘ (A =a)upll = A —a)y {2+ M2 - (2 —a)alp — [(1 —a)y(2 —p)]} — p}
BB =er {4-B-2-a)a]p{A2-(1-a)p(l —a+)]+p} 5)

by contrast, is always negative. This in turn implies that the effort on the extension jumps upward
at the intensive margin.
The combination of these two observations delivers the result (see Figures 3 and 4 for a graphical

representation). ]

Proposition 4. Under both in-house development and licensing, the equilibrium effort ep is in-
creasing in X. Furthermore, if the technological distance 6 is large enough, the brand owner develops
the extension internally if \ is small, licenses the brand to a specialized licensee for intermediate

values of A, and does not engage in brand extension if \ is large.

Figure 1 illustrates the Proposition.
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Figure 1: Profits and effort levels on the extension product as a function of the size of reciprocal effect (A).
Parameter configuration: « =0.3,p=0.8,e =0.7,u = 15,0 = 3.4,7=0.1.

Proof. The derivatives of the efforts on the extension product w.r.t. \ are

ocfl _ (1—a)pl2—(1—a)p(l+y—a)] _,
o 62— (1—a)2]—p ’

depp _ (1 —a)pp[l — (1 — )]
O\ 4—-383-(2—-a)lp

>0, (26)

so they clearly are both positive in the admissible parameter space.
To prove the second part of the proposition, we start by the intensive margin. The difference

between in-house and licensing profits, evaluated at A = 0, is:

_ 1 (1 —)?p[20(1 — p) + p]
(78 =), = 3 {{4 B C—a)alpt 02— (1—a)p—2)— ) } >0 (20)




The equation ﬂ'g = W]g has two roots in A, that are real if p > %. However, only one root lies

in the interval [0, 1], provided that the following condition holds:!

p?{Ma?—a(y+2)+7+2] -1} 2 +20p{A[a(4y—Ba+6)—4y—5]+4} +82

0> oM am A= (—an el 2 (=) —(I—a) W {(—a)\Br(a—— )T 1] —2at 5y 2]

(28)

This root therefore represents the intensive margin; we label it Al. We then evaluate the

derivative of the difference between the in-house and licensing profits at the intensive margin:

_ (1 —a)*u?p(p —2)
v M\/{‘l “B-E-a)alp 02 -1 -a)—p} = (29)

O(my —7p)
O

These observations imply that in-house development is preferred for all A < A, licensing for A > ..

L

Next, consider the extensive margin. The difference 75 — ﬂg is negative if

E‘/\Zl
p2 = (= a)llp(l —0) ~1(2— p)]

i 4—[3—-(2—-a)ap

(30)

The equation 75 = 75 has two zeros in A, which are real if the foregoing condition is met. In

this case, the only root that lies in the range [0, 1] is

A\EL _ 20=a)yp(2=p)—{4—[3-(2—a)a]}(pA+(1—a)e=(1=a)?pp (31)
(1-a)2u{p+2y[ap+y(2—p)—p]} ’

where A = (170‘)2{4(7”“)27”{27”2(HV*O‘)H“E(H%%‘H[37(270‘)0‘152}}. We conclude that to the

1—[3—(2—a—2
left of A\g licensing is preferred to not e)gteﬁlding i]lllje brand, and the opposite to its right. Accord-
ingly, the extensive margin is A* = min[ A\ \FL].2

Depending on the relative values of AI and A\F, two cases may arise. If A¥ > M| licensing is
the optimal extension mode at the extensive margin. This is the case described in the statement
of Proposition 4 and depicted in Figure 1. If instead A¥ < M, then the interval where licensing
is optimal vanishes. In this case, in-house development is optimal for A < A¥ and no licensing for
A > \E
O

Proposition 5. Under both in-house development and licensing, the equilibrium effort ep is in-
creasing in p. Furthermore, the brand owner does not engage in brand extension if p is small,
develops the extension internally for intermediate values of p, and licenses the brand to a special-

ized licensee if p is large.
Figure 2 illustrates the Proposition.

Proof. The first part of the proposition follows from the fact that the derivatives of the efforts on

If this condition is violated, then in house extension is always preferred to licensing.
2Similarly to the baseline model, condition (28) guarantees that NEPH >,
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Figure 2: Profits and effort levels on the extension product as a function of the size of extension market
(p). Parameter configuration: o = 0.3, A =04,e =0.7,u = 3,0 = 3.4,v = 0.15.

the extension product w.r.t. p are

el 21— a)uld+ A — (1 — a)v9)]

_ 0 Oek, _ 41— a)p[l + X — (1 —a)y)
p {012— (1 —a)?] - p}

Ip {43 = (2 —a)alp}?

> 0,

>0, (32)

are positive for all admissible values of the parameters. The proof of the second part follows the

same steps as that of Proposition 4. Details are left to the reader. O

Proposition 6. Under both in-house development and licensing, the equilibrium effort e is de-
creasing in «. Furthermore, the brand owner develops the extension internally if o is small, licenses
the brand to a specialized licensee for intermediate values of o, and does not engage in brand ex-

tension if « is large.
Figure 3 illustrates the Proposition.

Proof. The first part of the proposition is proved by calculating the derivatives of the efforts on

the extension product under the two alternative extension models:

% _ n{{P[a=a)AB+2y=80)+(1—a) 10A+(1—0)20—1] }+2p{0[1-2(1—) A (1+y—a) [ +A}+40A } <0,(33)
da {0[2—(1—a)2p]—p}* ’
dep _ pp{d+ A4 —4(1—a)y(2-p) — (2 - a)ap—p] — (2~ a)ap — p} <0 (34)
dav {4—-[3=(2—a)alp}? '

Tedious algebra confirms that the derivatives are negative. The second part is proved like that of

Proposition 4. Details are left to the reader. ]

Proposition 7. Under in-house development, the equilibrium effort eg is decreasing in 0; under

licensing, instead, it is independent of 6. Furthermore, if 7rf§ > WgE then the brand owner develops
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Figure 3: Profits and effort levels on the extension product as a function of the size of the perceived distance
(a). Parameter configuration: A\ =0.35,p=0.7,6 =05,y =4,0 = 4.4,v =0.1.

the extension internally if 0 is small and licenses the brand to a specialized licensee for high values
of 6.
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Figure 4: Profits and effort levels on the extension product as a function of the technological distance (6).
Parameter configuration: o« =0.2,p=0.8,e =0.2,u =2,A=0.4,7=0.1.

Proof. The first part follows from the fact that the derivative of the effort of the brand owner w.r.t.
0:

90 (02— (1—a)2p] - p}? ’

is negative for all admissible values of the parameters. The second part is proved similarly to

Ocfl _ (1—aju2— (-] 2= (L—a)pl+y—a)l+p} _ (35)

Proposition 4. Details are left to the reader. ]



2 Licensee’s outside option

In this section, we assume that there is only one potential licensee that has an outside option the
value of which is €2. Therefore, the licensee will enter into the licensing agreement only if it obtains
at least 2. To make the analysis interesting, we assume that € is greater than the profit that the
licensee would obtain in the baseline model

(1—a)?(14+A)?p?(1—p)p
Q> S eaap)? -

If this inequality was reversed, the existence of the outside option would not affect the equilibrum.
In any case, the existence of the licensee’s outside option does not affect the equilibrium under
in-house development. The equilibrium under licensing changes as follows.
The formulas for the profits of the licensee and the brand owner coincide with those in the
baseline model, (10) and (14). The expression for the optimal effort of the licensee as a function of
the royalty rate (12) does not change. By plugging it back into the licensee’s profit, we obtain:

pl(1 = a)ec — s?

L(s) = 32— p) (36)
The brand owner now sets s so as to solve
TL(s) = €, (37)
which implies:
s=(1—-a)ec— M (38)

2-p)p

This expression replaces equation (13) in the baseline model. Substituting into (14) we obtain

ec [V2(1=a)/(2=p)pvV/Qtp(2—p) | +2v220uy/ (2—p) pV O~ (8—4p) Q=2 20\ 11/ (2= p) pVQB—2(1— ) Au(2—p)e— €2, (2—p)

B = 2(2—p) ’
(39)
The profit-maximizing effort level therefore is:
1—a)v/pQ2
el = oy L VPR (40)

P

2

By substituting the optimal effort level back into the expression for the royalty rate we get

CV2VO{2-[2- (2 - a)alp}
(2—p)p) '

sb=(1-a)u (41)

This is positive provided that
(1—a)**(2-p)p

P R- -

(42)



Plugging back s and eé into eg we get

Vil (43)

Finally, the brand owner’s profit in the licensing equilibrium is

2V2(1 — )N + D/ (2 = p)pvVQ 4 2[3 — (3 — a)a]pQ — 2(1 — a)Au(2 — p)e + (2 — p) — 8Q
2(2-p) '

k=
(44)

Obviously, the profit of the licensee is €.
Having derived the equilibrium for this variant of the model, we now verify that the results

obtained in the main text continue to hold.

Proposition 1. Under both in-house development and licensing, the equilibrium exhibits under-

investment in the quality of both products.

Proof. The in-house and first-best efforts are the same as in the baseline model. Thus, the proof of
the first part of the proposition coincides with that of the baseline model. As for the second part,
let us calculate the difference between the efforts on the core and extension products in the first

best and under licensing:

(1= a)yp{(1= )X+ Dy 2= p)p) } — V202 — 2 = (2 — a)alp}

" —e6 = V=52 -2~ 2 - a)als) 20 W)

e (= a)uy2=p[2— (1- )] + (1 - a)upy2=p - VEIPH2 — 2= 2~ a)alp} _
B VI-p2- 12— (2—a)alp} ’

(46)
Tedious algebra shows that both differences are positivefor all admissible values of the parameters.

O
Proposition 2. If the royalty rate is positive and licensing is the best organizational mode at the
extensive margin (i.e., if 75 = aNE > 7)) then brand estension entails brand dilution.

Proof. The equation ﬂ]g — % = 0 has two solutions in u, namely p = 0 and

Q{4 —[3—(2— a)alp} —uE. (47)
(1-a) V200 + 1)V = p)p) = A2 = p)e]

'LL:

By evaluating the difference between the licensee’s effort and the threshold ¢ + 'yeé one obtains

= v — €. (48)

10



which is positive provided that condition (), which ensures that the royalty rate is positive, hods.
O

In the following results, the cautionary note of the baseline model that some intervals may be

empty still applies.

Proposition 3. At the intensive margin, a switch from internal development to licensing always

increases the quality of the extension eg; therefore, it reduces the likelihood of brand dilution.

Proof. The solution to equation 74 = 75 w.r.t. 0 is

ol — 2(1—a)\up [(1—0)u(2—p)+1/29(2—p) p| +2(1—a) up\/29(2—p) p—2pQ{4—[3— (2— )] p} — (1—a)2 X2 2 (2— p) [ (1— ) 2 p—2)]
2(1—a) (A+1) /22— p) p[2— (1) 2 p] —(1—a)2 2 (2—p) p— 22— (1—)2 p]{4— [3— (2— )] p} ’

(49)

Here we restrict our attention to the case where #/ > 1. If this condition does not hold, in-house

development is never a profitable extension mode.
The difference between the efforts on the core product with under in-house and licensing, eval-
uated at 67 is

E

( H L)‘ _ p{0-e)[(1-0)n(2=p)+21/2002—p)p| +2(1-)1/20(2—p) p+2[3—(2-a)a)p2-80 } _(1—a)
=01

€c — € W) (N2 (1=a)2A+ )

/'\ ’_‘
w\b

50)

Here we have to revert to indirect methods to analyze the changes in the effort levels at the

intensive margin. The r.h.s. of (50), evaluated at €2 = 0 boils down to % > 0 Further-

more, the derivative of (50) relative to the same parameter is _ =a)vp < 0, and tedious algebra
(50) P WoTemn) g

shows that (50), evaluated at Q is always negative. As a consequence, the switch to licensing
reduces the effort on the core product if 2 is small, but increases it if €2 is large.

The difference between the efforts on the extension at the intensive margin is

(eg N eg) ‘9:91 -
(1—a)p{A[2—(1-a)?p]+p}

[2-(1-a1)2p]{ (1-0)2222(2—p) [2— (1) 2 p] +2(1— ) Aup| (1= 0) (2= p)+/22(2—p)p| +2(1— ) up\/22(2— p) p— 202 {4~ [3— (2— a)a]p}}
2(1—a) (14 N 2= (1-)2p] /2202 —p)p— (1— )22 (2— p) p—2Q[2— (1—) 2 p] {4~ [3— (2— ) al p}

-
(51)
As before, we evaluate (51) at = 0, which returns — A= ) ag well its first-order
A2—(1-a)?pl+p
partial derivative w.r.t. €2, —# < 0. Therefore, we conclude that the switch to licensing
—p

always increases the effort on the extension product.

O

Proposition 4. Under in-house development the equilibrium effort eg is increasing in A\, whereas

under licensing, it is independent of \. Furthermore, if the technological distance 0 is sufficiently

11



large, the brand owner develops the extension internally if A is small, licenses the brand to a
specialized licensee for intermediate values of A, and does not engage in brand extension if A is

large.

The following figure illustrates the Proposition.
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Figure 5: Profits and effort levels on the extension product as a function of the size of reciprocal effect (A).
Parameter configuration: o = 0.35,p =0.5,e = 0.8, 4y =3.5,0 =5,Q = 0.6.

Proof. The first-order partial derivatives of the efforts on the extension product w.r.t. \ are

Oefp _ (1—a)u[2—(1-a)’p
A~ OR-(—al-p

dek
a—f = 0. (52)

> 0,

The proof of the second part follows the same logic of that of the baseline model. We start by

evaluating the difference in profits at A = 0:

1—a)?0u® Q4-3-(2- 1 —a)u/pQ
(= )| o (POl OB Qo) (ol g
A=0 2{0[2 - (1 - a)?p] - p} p—2 12
We observe that for 2 = 0 it boils down to
1— 209,,2

202 — (- o) —p}

which is positive. Furthermore, tedious algebra shows that its first-order derivative w.r.t. {:

{4=[B— (2= a)alp} = (1= a)u@ = p)V2 -2/ =p) _ (55)
2V/Q2 = p)(2 - p)

is positive as well. We then conclude that, for A = 0 in-house is preferred to licensing. Next, we

observe that the profit difference wg — 7T]I§ has only one real root in [0, 1], M, provided that p > %.

This defines the intensive margin, at which the derivative of the difference of the profit functions
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is negative:

oy —mp)|  _
on |y
—(1 = a)ux

% \/8+ 729{p2{47(2701)04[47(27(1)a+0]+9}72p[5 3(2— aa+0]} (1—a)2p2(2—p)p+2vV2(1—a)pu{2—[2—(2—a)alp}/ (2—p) P
=) 0= 1—a)?—2177]

(56)

meaning that 77% crosses ﬂ'g from below, which entails that to the left of A! in-house is preferred
to licensing, and the converse to its right. Similarly to the baseline model, the intensive margin lies
in the interval [0, 1] if

0> (1—a)?p2(2—p)3/2{2—[1-(2—a)a]p}+4v2(1 =) u(2—p) p*/ 2V Q2 —2Qp\/2—p{4—[3— (2—) o] p} (57)
20v/2=p[(1—)2p—2]{4—[3—(2—a)alp} — (1—a)2p2p(2—p)3/2 —4v/2(1—a) u(2—p) /PV U (1—)2p—2) *

If this condition is not met, in-house development is always preferred to licensing.

Let us now turn to the extensive margin. The difference ﬂé — Fg B evaluated at A = 0 is

positive as long as

21— a)?1*(2—p)p ,_ A
=< {4—[3—(2—a)alp}? >4 (58)
L

Futhermore, the equation 75 = 78 has one root only in \:

)\ELi (1 —a)pu\/2Q0(2 — p) — Q{4 — [3— (2 — a)ap}

, 59
1—05/14/29[)2—[)4‘2—/))6 (59)
which lies in the [0, 1] interval provided that (58) holds and

2Q) QU4—-[3—-(2—

2—-p (I —a)u(2-p)

It follows that licensing is preferred to no-extension to the left of AL, and the opposite is true to
the right of A\FL.
The extensive margin under in-house development coincides with that of the baseline model.
A\EL )\{EH}
)

The extensive margin is then \f = min{ . Depending on the relative values of the

margins, one of the two possible configurations highlighted in the baseline model may emerge. [

Proposition 5. Under both in-house development and licensing, the equilibrium effort eg is in-
creasing in p. Furthermore, the brand owner does not engage in brand extension if p is small,
develops the extension internally for intermediate values of p, and licenses the brand to a special-

ized licensee if p is large.

Figure 6 illustrates the Proposition.

13
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Figure 6: Profits an effort levels on the extension product as a function of the size of extension market (p).
Parameter configuration: o = 0.3, A = 0.5, = 0.65, 0 = 3,0 =4, = 2.5.

Proof. The first-order partial derivatives of the efforts on the extension product w.r.t. p are

Oy _ 21—+ ) dek 20
0 (02— (1-a)d—pf % By T CET o (61)

The proof of the second part follows the same steps as those of Proposition 4. Details are left to
the reader. O

Proposition 6. Under in-house development the equilibrium effort eg is decreasing in «, whereas
under licensing it is independent of that parameter. Furthermore, the brand owner develops the
extension internally if o is small, licenses the brand to a specialized licensee for intermediate values

of a, and does not engage in brand extension if a is large.
Figure 7 illustrates the Proposition.

Proof. The first-order partial derivatives of the efforts on the extension product under the two

alternative extension models are

oc _ m {W 2—(1—a)2p]* +0p[2+ (1 —a)?] — Azp 2-3(1—a)?p] - p2} <0, (62
da {012—(1—a)?p] - p}
Oek,

Tedious algebra confirms that the first derivative is negative, while the second is nil. The second
part of the proposition is proved following the same steps as Proposition 4. Details are left to the

reader. O

Proposition 7. Under in-house development, the equilibrium effort ep is decreasing in 6; under

licensing, instead, it is independent of 6. Furthermore, if ﬂ'é > WgE then the brand owner develops

14
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Figure 7: Profits and Effort levels on the extension product as a function of the perceived distance («).
Parameter configuration: A=0.6,p=0.7,e =11,y =4,0 =3.8,Q=1.2.
the extension internally if 6 is small and licenses the brand to a specialized licensee for high values
of 0.
Figure 8 illustrates the Proposition.

Proof. The partial derivative of the effort of the brand owner w.r.t. 4 is

defp _ (L—a)u[2—(1—a)’pl{p—A[2—(1-a)p]}

= - < 0. 64
Z 2 (1) — o’ o
Again, a procedure like that of Proposition 4 demonstrates the second part of the Proposition.
Details are left to the reader. O
eE.,e
T
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Figure 8: Profits an effort levels on the extension product as a function of the technological distance (6).
Parameter configuration: o = 0.3, A =0.4,e =0.6,u =3.5,p=0.7,Q = 1.1.
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3 Two-part tariff

Here we allow for the possibility that the licensing contract specifies a two-part tariff (s, F'), where
F is the fixed-fee.

In principle, a two-part tariff allows firms to solve the problem of double-marginalization. That
is, the brand owner can set s = 0 and extract its profits from the extension only by means of the
fixed fee. It could even set s < 0, providing a subsidy per unit of product so as to incentivize the
licensee’s effort.

As noted in the main text, however, such negative royalty rates are not observed in reality. The
reason for this is, perhaps, that the use of fixed fees may create other types of inefficiencies. For
example, suppose that the licensee is risk-averse and there are idiosyncratic shocks that affect the
demand for the extension product. In this setting, the use of pure fixed-fee contracts exposes the
licensee to the risk of making large payments to the brand owner even if demand turns out to be
low. In these cases, the licensee will incur in losses. To reduce this risk, the brand owner may want
to lower the fixed fee and increase the royalty rate.

As another example, suppose that the licensee knows the demand for the extension product but
the brand owner does not. In this case, if the brand owner uses a pure fixed-fee contract, it must
set the fixed fee on the basis of the expected level of demand. But when demand turns out to be
low, the licensee may refuse the contract. To guarantee acceptance, the brand owner may again
want to lower the fixed fee and rely more heavily on the royalty to extract its profits.

To capture these effects in a simple way, following Calzolari et al. (2020) and Condorelli and
Padilla (2022) we assume that extracting rents by means of fixed fees creates deadweight losses:
with a lump-sum payment of F', the brand owner earns F' but the licensee loses vF', with v > 1.
The difference ¥ — 1 may capture various costs associated with the use of fixed fees as means of
rent extraction such as those discussed above (for brevity, we shall refer to such costs as extraction
costs). In the limit as ¥ — 0o, we re-obtain the baseline case where the brand owner uses pure
royalty contracts.

Obviously, the analysis of the case of in-house development does not change. With licensing,
the profit of the brand owner is still

(I-—a)ec+eg—s 1,

mp=plec+M1—a)(eg—e)]+sp 5 —§GC+F, (65)

whereas that of the licensee becomes
(1—a)ec +ep — s
4

1
L =p — 56% —vF. (66)
The introduction of the fixed fee does not affect the way the licensee sets its own effort, which

remains:

eE:5§;K1—akC—ﬂ, (67)

as in the baseline model. Substituting this effort level into (66), it appears that the profit of the
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licensee now is )
pl(1 = a)ec —
2(2—-p)

Since the licensee’s reservation payoff is nil, the brand owner will set

—vFE. (68)

T =

Pl = a)ec — s?

F= 2v(2 - p)

(69)

The brand owner appropriates all the licensee’s profits in excess of its reservation payoff, but payoffs
are not transferred from the licensee to the brand owner on a one-to-one basis. Due to the extraction
costs, the rate of transformation is % <1.

By plugging the optimal ey and F back into the brand owner’s profit, we can express these

profits as a function of s only:

T = uec—(l—a)/\ﬂ{p[(l_a)60+5]—|-6}+

2—p
_psl(1 — aec + 5] N pl(1 — a)ec + s)? B %. (70)
2—p 2mv(2 — p) 2
Maximizing, we obtain the optimal royalty rate:
1- —1)—=A
L (-aec—1) - \w] -

2v—1

€
EC_C/\M > 1. In the absence

of extraction costs, (¥ = 1) the brand owner would set a negative royalty rate — a subsidy — to

It appears that the optimal royalty rate is positive provided that v >

boost the incentivizing power of the contract. The assumption that v > 1 allows us to reconcile
the use of two-part tariffs with the fact that negative royalty rates are not observed in reality.
By substituting the optimal royalty rate into the brand owner’s profit and maximizing with

respect to ec we obtain:

1 v{4—[3—-(2—-a)alp} - (2-p)

L
e = — 3 72
S -0 =2 + 41— @ p) 72)
which can be plugged back into the expression for the optimal royalty rate to obtain:
M[2-(2 - -2 -1 (2-
SL — (1 _ a)’ulj {[ ( a)a]p } + (V )( p) (73)

{4 =[B3=(2-a)alp} - (2-p)

The optimal royalty rate is increasing in v. This is intuitive: an increase in the extractions
costs lead the brand owner to rely more heavily on the royalty rate as a means of rent extraction.
In terms of exogenous variables, the condition that guarantees the positivity of s” is:

v > 2=p
2-pM2-[2-(2—-a)alp}

(74)
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The equilibrium effort of the licensee is

oL _ (1 —a)(+ Npvp
EZvda—B-2-a)lpt+p—2

Finally, the equilibrium profit of the brand owner under licensing is:

pipiv{p[(l—aP®AX(A+2)-2] +4} +p—2} —2(1 —a)re{2-v{4 - [3— (2 a)alp} — p}}
2{v{4 - [3— (2 a)alp} +p— 2} '

k=
(76)
Having derived the equilibrium for this variant of the model, we now verify that the results

obtained in the main text continue to hold.

Proposition 1. Under both in-house development and licensing, the equilibrium exhibits under-

investment in the quality of both products.

Proof. The proof for the case of in-house development is the same as in the baseline model. As for
the case of licensing, observe that the difference between the first-best effort and the effort under

licensing on the core product is positive

oFB _ oL _ (1 - )M+ Du(v —1)(2-p)p -
¢ 2-2-C2-aapH{{4-B-(2—a)alp}+p—2}

0. (77)

The difference between the efforts on the extension is

(1—)ufAr{8—p{12-5p—(2—a)af6-[5—(2—a)alp}}}+(v—1) (2—p)p} ~A(2—p)[2—(1-0)p]

FB _ L _
¢p —€p = - @-a)alo (7B~ C-a)alpl T7—2] - (78)
Tedious algebra confirms that the numerator is positive for all possible parameter values. ]

Proposition 2. At the extensive margin, if licensing is the best organizational mode (i.e., if 771% =

aNE > 7)) then brand extension necessarily entails brand dilution.

Proof. The equation 75 — “72 = 0 has two solutions in u, namely g = 0 and

y— 2xe{v{4 —(1[3_ —a 5?1—3;]5; +p—2} W >0, (79)

By evaluating the difference between the licensee’s effort and the threshold € one obtains

= < 0. 80
B=HE 14+ A (80)

O]
The analysis of the extensive margin(s) under internal development (Appendix E of the paper)
is unchanged relative to the baseline model.

As in the baseline model, the following results require the cautionary note that some of the

intervals mentioned may be empty.
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Proposition 3. Provided that the royalty rate is positive, at the intensive margin a switch from
internal development to licensing always decreases the quality of the core product ec and always

increases the quality of the extension eg; therefore, it reduces the likelihood of brand dilution.

Proof. The solution to equation 74 = 75 w.r.t. 0 is

ol — p?{A\[(1—a)2A—2]—{1-[(1—a)a—2]A}2 }+2Xp{ —{[2— (2—a)a] A} +{[5—3(2—a)a] \—4} +2} +4X%(1—2v)

PloAli—a A+ 2) 2202~ T+ p—2) , (81)

Here we restrict our attention to the case where #/ > 1. If this condition does not hold, in-house
development is never a profitable extension mode.

The difference between the efforts on the core product with under in-house and licensing, eval-
uated at 0 is

0oL ‘ (1 —a)®Aup{v{M[2— (2 - a)alp} +p—2} + p— 2}
(ec € ) 9=01

oo = PR= (-0 + o} W A-B-@-aalp +p-2) &

The denominator is positive. The numerator is also positive provided that the royalty rate is
positive,a condition that guarantees that the term in curly brackets in the numerator is positive.
Thus, the difference is positive.

The difference between the efforts on the extension is:

(eL_eLN A =ajup{f{M2-2-)alp -2} —p+2} +p—2}
BT oo (A2 — (1 - a)?p] + p}{r{4 = B— (2— a)alp} +p— 2}

(83)

By the same reasoning, this is always negative provided that the optimal royalty rate is positive. [

Proposition 4. Under both in-house development and licensing, the equilibrium effort eg is in-
creasing in A. Furthermore, if both the technological distance 0 and the extraction costs v are
sufficiently high, the brand owner develops the extension internally if \ is small, licenses the brand
to a specialized licensee for intermediate values of A, and does not engage in brand extension if A

is large.
The figure 9 illustrates the Proposition.
Proof. The first part of the proposition follows from the calculation of the derivatives

def (1 —a)u[2—(a—1)*p)
A~ IR oy

defy _ (1 —a)pvp
A rA-B-C—aaptp—2 " (84)

In order to prove the second part, we start by the intensive margin. The difference between the
in-house and licensing profits, Wg — Wét, is quadratic in A\. Furthermore, (ﬂg — Wé) ‘,\:0 is positive
provided that

V> ——————. (85)
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Figure 9: Profits and effort levels on the extension product as a function of the intensity of the reciprocal
effect (A). Parameter configuration: « = 0.3,p =0.3,e =0.3,u=1.5,0 =3.8,v = 1.6.

On the other hand, (Wg — Wé) ‘)\_1 is negative if

pl(1—a)tp+6(2—a)a—2] —1—8.

A3 a)ap + (86)

0>
The profit difference function is continuous in A over [0, 1], thus if the two above conditions are
fulfilled the difference of the profits cuts the horizontal axis only once. This root is the intensive
margin, and we label it A’. Finally, observe that the derivative of the difference of the profits,

computed at A = A is negative, which confirms our last claim:

0 (Wg — 771{13)

oA

—_ (1—a)*u?p[2 —v(2—6p) — p]

A=A

We conclude that for all X to the left of A’ in house extension is preferred to licensing, and the
converse to its right.
Let us now consider the extensive margin under licensing, which is defined by the locus wé =

Wg E_ This equation has two roots in \, which are real provided that

2(1 — a)uvp
VA B-@ ) tp-2 )

This said, observe that

(wh — " (1-al)*u?vp

Tp — TR >’>\=0:2V{4—[3—(2—a)a]p}+2p—4>0’ (89)

and that
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L NE 2(1 — apv
(7h — 5 )‘/\:1 = (1= a)“{u{4 “B-(2- a)ua]ﬁ} Yp—2 5} (90)

is negative as long as (88) is fulfilled. In this case there is only one root that lies in the [0, 1]
interval, we denote it A¥H. The extensive margin is thus A® = min[\FH# \FE].3
Depending on the relative values of Al and A\¥, two cases may arise. If \¥ > M| licensing is
the optimal extension mode at the extensive margin. This is the case described in the statement
of Proposition 4 and depicted in Figure 9. If instead A¥ < A, then the interval where licensing
is optimal vanishes. In this case, in-house development is optimal for A < A¥ and no licensing for
A > \E.
O

Proposition 5. Under both in-house development and licensing, the equilibrium effort ep is in-
creasing in p. Furthermore, the brand owner does not engage in brand extension if p is small,
develops the extension internally for intermediate values of p, and licenses the brand to a special-

ized licensee if p is large.

The following figure illustrates the Proposition.
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Figure 10: Profits and effort levels on the extension product as a function of the size of the extension market
(p). Parameter configuration: o = 0.4, A =0.5,e =14,u=2.5,0=1.6,vr =1.8.

Proof. The first part of the proposition follows from the calculation of the derivatives

Oell 2(1 — a)u[d+N) Dek, 21 —a)( A+ v (2v — 1)

dp  {O2— (1 —a)?p] — p} 9p  A{r{4-B-2-a)alp}+p—2}
The second part can be proved by the same reasoning as that in the proof of Proposition 4. Details
are left to the reader. O

3In house development choices are unaffected by the licensing contract structure, thus the relevant margins
coincide with those in the baseline model. Condition (86) insures that AF¥ > 1.
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Proposition 6. Under both in-house development and licensing, the equilibrium effort e is de-
creasing in «. Furthermore, the brand owner develops the extension internally if a is small, licenses
the brand to a specialized licensee for intermediate values of o, and does not engage in brand ex-

tension if « is large.

The following figure illustrates the Proposition.
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Figure 11: Effort levels on the extension product and profits as a function of the perceived distance («).
Parameter configuration: o =0.3,p =08, =0.8,u =2,0 = 2.8, v = 3.8.

Proof. The first-order partial derivatives of the efforts on the extension product under the two

alternative extension models are

gel {0 (1= —2]"+6p[(1 - a)?p+2] + Mo [3(1 - )% — 2] — p?} 0. (o2
o T R~ (1 2] + o -
el 1+ Nup{v{d—[1+ (2— a)ap} + p— 2}

e = LA-B @ a2z <0 (93)

It is clear by inspection that the second derivative is negative, tedious algebra confirms that so
is the first one. The second part of the proposition is proved similarly to that of Proposition 4.
Details are left to the reader. d

Proposition 7. Under in-house development, the equilibrium effort eg is decreasing in 6; under
licensing, instead, it is independent of 0. Furthermore, if 7r]L3 > ﬂ'gE then the brand owner develops

the extension internally if 0 is small and licenses the brand to a specialized licensee for high values

of 0.

Proof. The partial derivative of the effort of the brand owner w.r.t. 4 is

Ocff _ (L—a)u[2=(1—-aP’pl{p-A[2—(1—aPpl} _, (94)

00— 02— (1 - )?p] - p}?
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Figure 12: Profits and effort levels on the extension product as a function of the technological distance (6).
Parameter configuration: a = 0.5,p =0.4,e =03, p =3, A=04,v = 2.6.

The second part of the proposition is proved similarly to that of Proposition 4. Details are left to
the reader. O
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